OF -l Ny

MBI KN (EEF+REHERS () SBREMET W XDEHWKEF UL MR
TRC | mYBHEHP TR 4o {H40e°

BFRII+ | 1 mim

ERKEH I KK

FERETREEQ | myHHEHP e
HETRE (FR+H HERuERCHEDR) © | NKQS o HHEH =00
BRE ST H
X HRE BRIt R 141, 526 km | 4%
]
:
= HRE BRI 147, 052 k m 27
]
:
B AR 3 [F] Y R A = 998 k m
Y
[EHAR v 7 AR 6, 926 k m




AR 2L VAR AL & 1,115 k m
R NS Y11 7,123 k m
Bital (REEM) B s 0.0015 —
Bitiacli OB AZHARE) & gabL = 0. 0688 —
Bitimcli (hakss#ak) i g =R 0. 0664 —
Botiali (ohdiEs) e E s 0. 0365 -
Bt e fm (TAAREs)  xH&RER R 0.0135 —
Bt a i (ot MERREAR) P iRE R R 0. 0878 -

Y sHEEER . 007740 —

el b e AR R . 010378 —
Bitial (REEM)  IHREmHELR 0.0014 —
Btiacli OMAFAZHEE) xHERH R 0. 0681 —
Batiacli (hakss#asg) B 0. 0661 —




B ER e (THAMERES) *HREHEER 0. 0356
B ER e (THANRRE) *HREHEIER 0.0132
LR (mSMEipplik)  TREFALE 0. 0873
HLmAEY &R EEEELR 0. 007944
At SR ERE R 0. 009922
ML)  kFERE AR 0. 0836
L) XrRERELR 0. 0799
TH, 2B XOES  SEREFELER 0. 0058
M EECEE (&Y 7 by x27)  XEREEILER 0.0156
R EECEE (FOMOBEEEERE) XEREELR 0. 0044
TH, 2B XOES  SEREREER 0. 0057




WG ETCEE (ZHEY 7 by 7) xR REER 0.0163 —
BEEEEE (ZOMOBEEEEEE) THEREFLE 0. 0043 =

HR10°

ri%ﬁgew%

TIN5 A2 HAA Jil 5% DR 4 2y b ¢ 8 4 bE =R 0. 0494 —
NN A2 % NN (8188 24 72 0 i 3R Ok 42 2 686 [/ [HI#
INNF A2 MR AT 8 T R i s Ok 2 (AbifgE) 530, 711, 820 ]
TN A2 WA R 2 I W ol e i Ok (AR IR 510,921, 036 i
I A E T R sR R 2% (5 FIR) 501, 025, 644 H
TINN T A2 AR 3 F W ol e Ok (R R ) 520, 816, 428 i
NN A AT 8 e R i 5% O 2% (RK L IR) 508, 447, 188 H
DA AR B R st R 2% (LB IR) 535, 659, 516 ]
TN AZ AR BT R e e R 28 (B IR 525,764, 124 ]
TN AZ B AR B T R e e PR 2B (PR R 5695, 345, 691 ]
INNF AZ HARE AT B T IR B h s R 2 (AR IR 565, 345, 691 i
TN AZ AR BT R e ek R 28 (BESIR) 548, 028, 756 ]

rJ



INNFE A MR AT B T IR B s R 2 (B £ R 587,610, 323 ]
I AT B R i s R 2% (T-3EIR) 592, 558, 019 i
INNFE A MR AT B T IR DR A PR 2 CROTER) 627, 191, 890 i
INNF AZ MR AT B AT IR B R 2 (PR )1 IR 595, 031, 867 i
I AT B R T sR R 28 (B IR) 530, 711, 820 i
I AR E A BB ek R 2% (8 1L IR) 560, 397, 995 ]
I AT B i R b s R 2% (A1) 575,241, 083 i
DN AR A E A R A st R 2% (FE R IR) 565, 345, 691 ]
TN A2 WA R0 3 1 VR ot e e P (LAY IRL) 607, 401, 107 i
INAFE A HARE AT E T IR DM s R 2B (REFIR) 572,767, 235 i
TN A2 WA R 0 0 VR ot i e O (Mg B UL ) 567,819, 539 i
TN AR AT 28 IR 5 e 5% O A B (o] JRL) 585, 136, 475 i
TN 22 B AT 38 T R A i 1R A B (3% Jn ) 580, 188, 779 ]
I AT B R i s 2% (= FEIR) 567,819, 539 i
I AT B R st R 2 (W IR) 560, 397, 995 i
TN A2 WA R 0 3 VR ot i o O (S BB RT) 570, 293, 387 i




TN 22 B A1 38 T R A i % 1R 2 (R IRURF) 585, 136, 475 ]
I AR AT 8 o R i 5% R 2 % (Jo IR 560, 397, 995 i
I R E T R ER R 28 (REBIR) 582, 662, 627 i
TN A2 AR 0 0 VR ol i e e (R Ak (L R ) 575,241, 083 i
INANFE A HARE AT E IR DM A R 2B (R 543, 081, 060 i
DN AR B R B et R 2% (ERIR) 538, 133, 364 ]
TN AT 3 R 01 e 5% O 2 B (e 1 JRY) 550, 502, 604 i
TN 22 BAR A 8 T B A % R 2 (A B IR 543, 081, 060 ]
INNF AZ MR AT B T IR B h s R 2 (b &) 538, 133, 364 i
INANFE A HARE AT E T IR DM A R 2 (TR IR 525, 764, 124 i
INNFE A MR AT B T IR B h s R 2 (IR 530, 711, 820 i
I AR AT 8 T R i 5% R B (g IR 535, 659, 516 i
TN 22 BARR AT 38 T B A i 1R B (i Jn ) 533, 185, 668 ]
TN AT 28 IR 0 e 5% O 2 B (i i) JRY) 515, 868, 732 i
I AT B R b st R 2 (IR 513, 394, 884 i
INNFE AZ HARE AT B T IR i s R 2 (Rl IR 510,921, 036 i




TN 22 BARE A 8 T IR A % R 2 (REARUR) 513, 394, 884 ]
TN A HA RS AT G T I B it e PR 2 e (R 57 JR) 510, 921, 036 ]
NN A HA RS AT (B T VR B it e PR By (e iy IR 510, 921, 036 ]
TN A2 ARG 1 e W ol i o Ok (RE R S5 UR) 513, 394, 884 i
TN AZ B AR B T R e e PR 28 (PR IR 496, 077, 948 ]
HH i A8 R Tt B PR 4 2 s 45 I B L R 0. 0461 -
{25 S 1B i % PR 4 B T B RH EE R 0. 0293 -
AZNT—TNVIER 1 kmYS 720 itk e® (uiEE) 187,967 | M, k m
ABZNT—TNVIER 1 kmYS 70 ik e® (FHE) 181,004 | M,k m
ABZNT—TNVIERE 1T kmY 7 Extked O FR) 177,522 M/ km
AZNT—TNVIER 1 kmYS 70 ik fre® (CEHiR) 184,486 | M, km
AN —TNVIER 1 kmY 7 skt e® (KHE) 180,134 M/ km
ABZNT—T VIR 1 kmYS 720 itk ae® (LER) 189,708 | M,k m
ABANT—TNIER 1 kmY 7kt ed (FEE) 186,227 M,/ km
ABZNT—TNVIERE 1T kmY 7 Extred ORHR) 200,153 | M, km
AZNT—TNVIER 1 kmYS 720 iR e® (HAR) 200,153 | FH,/ km




ABANT—TNVIER 1 kmYS 70 ik e® (HER) 194,060 | M, k m
AN —TNIER 1 kmY 72 skt ed (WER) 207,987 | M, km
ABZNT—TNVIERE 1T kmY 7 Extked (TER) 209,728 M, km
AZNT—TNVIER 1 kmYS 720 skt a® R 221,914 | M,/ km
ABZNT—TNVIER 1 kmY 700 it e (R 210,599 | M, km
ABANT—T VIR 1 kmYS 70 ik e® ChiER) 187,967 | M, k m
AN —TNIER 1 kmY 7 asxktre?® (1L 198,413 M/ km
ABZNT—TNVIER 1 kmYS 70 iR e® Ca)llR) 203,635 M,/ km
AZNT—TNVIER 1 kmYS 700 iR e® (BHR) 200,153 | FH,/ km
APV —TNVIERE 1 k mY 72 0 figkfre® (LRLE) 214,951 M,/ km
ALV =T VIR 1T kmY 720 gk Rt (REE) 202,765 M,/ km
AN —TNVIER 1 kmY 7 sk tred (I RIE) 201,024 M,/ km
ABZNT—TNVIER 1 kmYS 70 skt (i R) 207,117 M,/ km
ABZNT—=TNVIER 1 km% 700 sk fr et (k) 205,376 | M,/ km
ABZNT—TNVIERE 1T kmY 7 Extked (ZHR) 201,024 M,/ km
AZNT—TNVIER 1 kmYS 70 ik e®d (ER) 198,413 | M,/ km




\
/

ABZNT—TNVIER 1 kmYS 70 itk a® (L) 201,894 | M,/ km
ABZNT—TNVIER 1 km¥Y 720 asfred (ORI 207,117 M,/ km
ARZNT—TNVIERE 1T kmY 7 Extred (TER) 198,413 M/ "k m
ABZNT—TNVIER 1 kmYS 70 iRke® (RRR) 206,246 | M,/ km
APV —T VIR 1T km¥ 720 Mgk frate (Fnakl i) 203,635 M,/ km
ABZNT—TNVIER 1 kmYS 720 ik e® (SR 192,320 M, km
ABANT—TNVIER 1 kmY 7 skt ed (BRE) 190,579 | M/ km
AZNT—TNVIER 1 kmYS 70 st (L&) 194,931 M,/ km
AZNT—TNVIER 1 kmYS 70 iR e® (LER) 192,320 | M,/ km
ABZNT—TNVIERE 1T kmY 7 Extred (L0 k) 190,579 | Mk m
ABNIT—TNIER 1 km¥Y 7V tres (55 R) 186, 227

ABZNT—TNVIER 1 km¥Y 720 iafred (F)R) 187,967 | M,/ km
ABZNT—TNVIER 1 kmYS 70 iR a® (ZRE) 189,708 | M, k m
AEZNT—=T VIR 1 km%7c 0 Eskfrae® (&) 188,838 | M./ km
ABZNT—TNVIERE 1T kmY 7 Extred (186 R) 182,745 M/ km
ALV =T VIR 1T kmY 720 gk et () 181,874 | M,/ km




\
/

AL —TNVIER 1 kmY 720 fiak e 181,004 | M,/ km
AB N —TIVIER 1 k mX 72V fii g 4 181,874 M,/ k m
AANITr—TNVIER 1 km¥4 70 ik a% 181,004 | M,/ km
AL —T)VEER 1 km¥ 720 ik 181,004 | M,k m
ALV —TNVIER 1 kmY 7= 0 sk ke 181,874 M,/ km
AL —TNVIER 1 kmY 720 sk e 175,781 | M,/ k m
A G — T VNN [l 2 72 0 i i Ok 2 338 | M/ [al#
IMAFRINr —T7 Ve R 1 k m 347z V) fii i Pk 4 % 42,071 M,/ km
IMAFRN T —T7 VIER 1 k mY 7z V) i k2% 40,512 M,/ km
AR —7 VIR 1 k m 3472 0 S ik Pk 2 F 39,733 M,/ km
MARNTr — T NWVIER 1 k m¥ 7= 0 sk fh e 41, 291

MARE T —TNVIEE 1 kmY =0 s freH 40,317 M,/ km
MARNTr —TNWVIER 1 k m¥4 720 ik h e 42,460 M,/ km
MARNTr—TNVIER 1 km¥ 70 i fke® (B8R 41,681 M,/ km
IMARHr —T NVIER 1 k m¥4 720 sk a2 (RIKE) 44,798 | M,/ km
MAFZNr =T NWVIER 1 kmY 72 0 s e 2 d (HHARR) 44,798 | M,/ k m




AR —TNIER 1 k m¥Y 7= 0 sk et (FEER) 43,434 | M,/ km
MMARN 7 —T VIR 1 kmY -0 Esk ke (BER) 46,552 | M,/ km
MARN A —TNVIEE 1 kmY 7= 0 skt (THER) 46,941 M,/ km
MAFRIET — 7 NWVIER 1 km¥ 720 Mgk k28 CRCHE) 49,669 | M, km
MARNE T —T VIR 1 kmY 720 ik fres (E)IR) 47,136 | M, km
MARNTr —TNVIER 1 km¥ 7= 0 ek fke® CHiak) 42,071 M,/ km
MARN T —T7 VIR 1 kmY 72 v ke (8 LR) 44,409 | M,/ km
IMARHr —TNVIER 1 k m¥Y 7= 0 sk et (a)IIR) 45,577 M,/ k m
IMARH A —T NVIER 1 k m¥Y 720 sk et (EHR) 44,798 | M,/ k m
MARN A —T NVIEE 1 kmY 7= 0 sk freg (LELR) 48,110 | M,/ km
MARINET —7 NWVIER 1 kmY 720 Mgk k2 (RER) 45,383 | M, km
MAZRN T —T VIR 1 kmY 720 fusxfr e (kR IR) 44,993 | M,/ km
IMARH T —TNIER 1 k m¥Y 72 0 sk et (5 IR) 46,357 | M,/ km
MARN T —TNVIER 1 km¥ 720 sk fref (ZmR) 45,967 | M,/ km
MAFZNr =T NVIER 1 kmY 720 gtk ad (ZHR) 44,993 | M,/ km
MARINET —7 NWVIER 1 kmY 720 Mgk 2 (GEIR) 44,409 | M,/ km




IMARH T —TNIER 1 k m¥Y 7= 0 sk et (UEA) 45,188 | M,/ k m
MARN T —T7 NVIER 1 kmY 72 0 stk a® (R 46,357 | M,/ km
MARN A —T NVIEE 1 kmY 7= 0 sk fr et (R 44,409 | M,/ km
MARINT —7 NWVIER 1 kmY 720 Mgk k2 (KERR) 46,162 | M,/ km
AR — T NVIERE 1 k mX 72 0 Mgkt (Faakli) 45,577 M,/ km
IMARNr —TNIER 1 k m¥Y 720 sk et (BEIUR) 43,045| M,/ km
MAZRN T —T7 VIR 1 kmY 720 ke ® (HERER) 42,655 | M,/ km
IMARHr —T NIER 1 k m¥Y 720 fEsk et (L R) 43,629 | M,/ km
MARN T —T7NVIER 1 kmY 72V ket (LER) 43,045 M,/ km
MAZRNT —T7NIERE 1T kmY e Extred (o) 42,655 | M, km
MARIET —7 NWVIER 1 km¥ 720 Mgk k2 (785 IR) 41,681 | M,/ km
MMARN 7 —T VIR 1 kmY =0 Eskiked (F)IIR) 42,071 M,/ km
IMARHr —TNIER 1 k mY 7= 0 sk et (BER) 42,460 | M,/ km
MARN T —TNVIER 1 km¥ 720 sk fhe® (&) 42,266 | M,/ km
TMARN A —TNVIEE 1 kmY 7= 0 fEskfh a2 (1@ R 40,902 | M,/ km
MARINETr —7 NWVIER 1 kmY 720 Mgk e (A IR) 40,707 | M,/ km




\
/

IMAFRIN T —T7 Ve R 1 k m 347z V) fii i k42 % 40,512 M,/ km
MARE T —TNVIEE 1 kmY =0 sk freH 40,707 | M, km
MARN T —TNVIER 1 km¥ 720 sk ke 40,512 M,/ km
IMAFRIN T —T7 VIER 1 k m Y7z V) i k2% 40,512 M,/ km
MARN T —T NVIER 1 km¥ 720 sk ke 40,707 M,/ km
IMAFRIN T —T7 Ve R 1 k m 347z V) fii i Pk 42 % 39,343 | M,/ km
ISR — 7 VI [BIRR Y 7= 0 i sk Pk 2 338 | MBI
PR — T VEER 1 k m Y72 Y i ak Pr 25 310,603 | M,/ km
HfkE R — T VEER 1 k mY 72V fiak Pk 2 H 299,056 | M,/ km
FRERIE T — T VIER 1 k m¥% 72 0 sk fr 2% 293,282 | M,/ km
FERIE T — T VIER 1 k m Y72 0 sk PR 2 H 304, 829

FflE R — 7 VEER 1 k mY 7V ik e 2 297,612 M,/ km
TR — T VEER 1 k m Y7 Y i ak Pr 25 313,490 | M,/ km
FRERE 7 — T VEER 1 km 4720 sk (FEER) 307,716 | M,/ km
FkREr — 7 VIR 1 kmY 720 ek fr s (RIR) 330,811 | M,/ km
Pk R — 7 VIER 1 k m 720 sk R 2% (H5AR) 330,811 | M./ km




Ffk R — T NVIER 1 k mY 70 sk Rt (FEER) 320,707 | M,/ km
PR N — T NVIER 1 kmYS 72 0 ik ir 2 (HEE) 343,802 | M,/ km
FkRIE T — T NVIER 1 k m¥M 720 gk Rt (THER) 346,689 | M, km
FHERE T — 7 VR 1 kmH 70 fiisk e (CGRATES) 366,897 | M,/ km
FfkRIE T — T NVIERE 1 k mY4 720 gk 2B (R ARJIIR) 348,132 | M,/ km
HfER N — 7 VIR 1 kmYS 70 sk R a® GIiER) 310,603 | M,/ km
PR — T VIER 1 k m% 72 sk fr et (FLR) 327,924 | M,/ km
Ffk R — T VIER 1 k m4 70 sk R (A1) 336,585 | M, km
Pk R — 7 VIER 1 k mY 72 0 ek R 2% (fE ) 330,811 M,/ km
FE R — 7 VIR 1 kmYS 720 sk fre®E (ILRLIR) 355,349 | M,/ km
Pk R — 7 VIER 1 k mY 720 ik R 2% (RER) 335,141 | M,/ km
PRI — T NVIER 1 k m% 72 0 sk Rt (I RIR) 332,254 | M,/ km
Ffk R — T NVIER 1 k mY 70 ik Rt (FF ) 342,358 | M,/ km
PR — T NVIER 1 k m% 72 0 sk Rt (i) 339,472 M,/ km
FkRIEr — T NVEER 1 k m¥4 720 sk R eE (ZEE) 332,254 M,/ km
FHERE T — 7 VR 1 kmH 720 ik tee® (KER) 327,924 | M,/ km




\
/

Fflk R — T NVIER 1 k mY 70 fisk R 2 RAR) 333,698 | M,/ km
Pk R — T VIER 1 k mY 7 0 sk R 2 (RBRAT) 342,358 | M,/ km
FkREr — 7 NVIERE 1 kmYS 720 ek fresE (KER) 327,924 M,/ km
Pk R — 7 VIER 1 kmY 720 sk R 2% (RRR) 340,915 M, km
HAERNE S — 7 Ve R 1 kmYS 720 iEsxfr g (Foakib i) 336,585 | M, km
Ffk R — T NVIER 1 k mY 70 ik R (5EUR) 317,820 M,/ km
PR — T NVIER 1 k m% 72 0 sk fr a2t (HRIR) 314,933 | M,/ km
FHER N — 7 VIER 1 kmY 70 fisx g ([ LR) 322,151 | M,/ km
Pk R — 7 NVIER 1 k mY 720 ik R 2 (L) 317,820 M,/ km
FkRIEr — T NVEER 1 k m¥4 7= 0 fgx R e (bn i) 314,933 | M,/ km
FER N — 7 VEERE 1 k m¥ 70 ik fre® (FEER) 307,716

FRERE 7 — T VEER 1 km4 70 sk fr e (F)IR) 310,603 | M, km
TR — 7 VIER 1 k m¥ 7= 0 ikt ef (ZRE) 313,490 | M,/ km
PRI — T VIER 1 k m% 72 0 sk R 2 (&% R) 312,047 | M,/ km
TR — 7 VIER 1 k m¥ 7= 0 Mgkt a® (fEhR) 301,943 | M,/ km
Pk R — 7 VIER 1 k mY 7 0 ek fr g (B R) 300,499 | M, km




\
/

FkE R — T VAER 1 k m Y7 Y i Ek PR 25 299,056 | M, km
FREREr— T VEER 1 kmY 720 gk fr e (REARLR) 300,499 | M, km
FRERIE T — T NVIER 1 k m¥% 72 0 sk fr 2 299,056 | M, km
FfkE R — T VEER 1 k mY 72V fiak Pk 2 H 299,056 | M,/ km
TR — T VIER 1 k m¥4 720 ik e 300,499 | M,/ km
FRERIE T — T A GER 1 k mA 7Y gk P % 290,395 | M,/ km
WIEX S — 7 VIER 1 km¥ 70 ik trae® (LiEE) 460,379 | M,/ km
WIESLr — 7 VIER 1 kmY 7=V Eskfir e (FH 442,825 M, k m
MIECr — 7 VIER 1 kmY 720 ik k2t CaFR) 434,048 | M,/ km
MRS — 7 VIER 1 k mY 72 0 figkfra® (EHRE) 451,602 M,/ km
WIEL T —7 ViR 1 kmY4 720 ik tead (BKHER) 440, 631

WIESL 7 — 7 VIR 1 km% 720 fEskfr e (LB R) 464,767 | M,/ km
WIENr — 7 VR 1 km¥7- 0 fikie 2 455,990 | M, km
MWIECr — 7 VIER 1 km Y72 0 ik R 2ty (RHR) 491,098 | M,/ km
WIESL 7 — 7 VIR 1 km% 720 fEskfr et (AR 491,098 | M, k m
MIECr — 7 VIER 1 kmY 720 ik Rt (B IR) 475,738 | M,k m
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MWIEN T —7 VIR 1 kmY 7oV ik a® (HER) 510,845 | M,/ km
WEN 7 — 7 VIR 1 kmS 70V Rk esE (TER) 515,234 M,/ km
MR — 7 VIR 1 km¥Y 70 Mgk Rt CGRAHR) 545,953 | M, km
WIS — 7 VIR 1 kmY 72 0 fask ff 2 517,428 | M,/ km
WISy — 7 NVIER 1 km¥% 72 0 sk fr et CIiER) 460,379 | M, km
WISy — 7 NVIER 1 k mY 72 0 fask R 2 486,709 | M, k m
WISy — 7 VIER 1 km% 72 0 askfr et (A1) 499,874 M,/ km
MWIEN T —7 VIER 1 kmY 720 ik a® (EHER) 491,098 | M, k m
MWIECr — 7 VIER 1 kmY 72 0 ik R ([LAYIR) 528,399 | M. km
WISy — 7 NVIER 1 km% 720 iaskfr et (EHIR) 497,680 | M, km
WIS — 7 VIER 1 kmY 700 sk a® (I RIR) 493, 292

WEN 7 — 7 VIR 1 kmXS 700k frag (F ) 508,651 | M, km
MWIECr — 7 VIR 1 kmY 720 ik fr g (Zi) 504,263 | M,/ km
WIS 7 — 7 VIR 1 kmY 72 0 fa sk ff 2 493,292 | M,/ km
MRy — 7 NVIER 1 km% 720 sk fr et (EIR) 486,709 | M, km
MWIECr — 7 VIER 1 kmY 72 0 ik R 2 OLERIT) 495,486 | M, k m




MWIEN T —7 VIR 1 kmY 720 stk 2® (KRBT 508,651 | M,/ km
WIESL 7 — 7 VIR 1 km% 700 sk fr et (KER) 486,709 | M,k m
MRy — 7 NVIERE 1 km% -0 ek es (RRIR) 506,457 | M, km
MWIECr — 7 VIER 1 km¥Y 72 0 ik fr a2 (CRnak i) 499,874 M,/ km
WIESL 7 — 7 VIR 1 km% 720 fEskfr e (SEUR) 471,350 | M,k m
WIEN T —7 VIR 1 kmY 70 itk a® (HRE) 466,961 | M, k m
WEN 7 — 7 VIR 1 kmXS 700 ek frag ([ LER) 477,932 | M,/ km
MWIECr — 7 VIR 1 kmY 720 ik fr 2t (L) 471,350 | M,k m
MWIECr — 7 VIER 1 kmY 72 0 ik R (LA R) 466,961 | M, k m
WISy — 7 NVIER 1 km% 720 sk fr et (fEEIR) 455,990 | M, km
MWIECr — 7 VIER 1 kmY 720 ik e 2t (F)IR) 460,379 | M,k m
WIESL 7 — 7 VIR 1 km% 700 sk e (BRI 464,767 | M,/ km
MWIEN 7 —7 VIR 1 kmY 720 ik 2® (SER) 462,573 | M,k m
MIECr — 7 VIER 1 km Y72 0 ik Rty (fa 5D 447,213 M,/ km
WISy — 7 NVIER 1 km% 720 sk fr et (EER) 445,019 M, km
MIECr — 7 VIER 1 km¥Y 72 0 fik R 2t (R 442,825 M, k m




MWIEN T —7 VIR 1 kmY 720 ik a® (BAR) 445,019 | M,k m
WMEN 7 — 7 VIR 1 kmS 70 k2 (KoR) 442,825 | M, km
WKy — 7 VIER 1 km¥S 720 sk ira® (ER) 442,825 | M, km
WIEN T —7 VIR 1 kmY 720 ik e® (BRSR) 445,019 | M,/ k m
WISy — 7 NVIER 1 km¥% 720 sk fr et (FhilIR) 429,660 | M, km
BHILRE k mY 720 sk fr 22 82,441 | M,/ km
FOREKAERE kmY 720 skt 82,441 | M,/ km
EOBEAERkmY TV iR 2 82,441 M,/ km
HLENEER k mY 72V gk kg 82,441 M,/ km
HIGARERIERE k m¥Y 72 0 s 22 82,441 M,/ km
BARILENEIER k m Y472 0 sk R 2% 82,441 | M,/ km
BB ) R A i e Ok B kR R R 0. 0568 -
B Ak = W i i PR 2 B R R A B R 0. 0285 —
Bitiax i (o Bafl) sk fr g g gt g 0.2181 —
Bo il (DA ZZHARE) ik Pr 2B el i &R R 0. 0494 -
Bathax i (TP AHArg) fiRk Or 22 xh i B AR b R 0.0461 -




Brti el (oSS ) iSRS IE R k m 24 72 U i s PR 2 & 12,788 | M,/ km
Bathlaxfi (FHPYRRES) T ABREEIE R k m 24 72 U S ik Pr 2 & 3,030 M, km
Bo il (S EERRARAR) ik Pr 2Bl i &R R 0. 0293 -

1 B i 5% PR A kP P B A L 0. 0285 —
TINON 3 A2 HA % Tt 5% O 2 B e ¢ ' L L 0. 0468 —
TN 22 BAREIN A (B HR 2 72 0 Ji i Ok 2 B 663 [/ [El#
TN A 0 3 e IR ) i 5 O 2 B (AbvigaE) 500, 731, 894 i
I AT B T R st R 28 (F AR 470, 656, 195 I
DA R E A BB sk 2% (5 FIR) 472,969, 711 M
TN AZ B B T R e ek PR 28 (iR R) 486, 850, 802 ]
DN A A R B st R 2% (BKH IR 475, 283, 226 M
NN A AT 8 e R i 5 O 2 (LU IR) 496, 104, 863 i
I AT B T R st R 2% (F8 5 1R) 496, 104, 863 I
TN AT 3 o IR 0 i 5 O e (ORI IR) 533,121, 107 i
I AR AT 8 T R i 5 R 2 (AR IR) 523, 867, 046 1]




INNFE AZ MR AT B T IR B h s R 2 (BERS IR 512,299, 470 ]
NN A B AR T I Bl it e PR e (B IR 553,942, 744 ]
NN A B AR I IR B e PR 2 (FHEIR) 551, 629, 229 ]
TN A2 WA R 0 3 VR ot e e O e (RO RS) 572, 450, 866 i
NN 22 BARK T B T B A R PR e ()11 ) 560, 883, 290 ]
TN 22 BAR A 38 T B A % 1R 2 TR IR 500, 731, 894 ]
INNFE A B AR I IR B e AR 2 (& 1 IR) 528, 494, 076 ]
TN 22 BAR A 8 T B A % R 2 ()11 B 526, 180, 561 ]
NN AT 3 e R i 5% O 2 (R IR 526, 180, 561 i
NN A HA AT N W B it e AR 2 (LB IR) 5695, 510, 320 ]
I A AT e R i 5 O 2 (REFIR) 537,748, 137 i
TN A3 MR A 3 IF W3 1) it e o A By (Ml B IR ) 535, 434, 622 ]
TN 22 B AT 38 T VR I i i PR A B (e o] ) 542, 375, 168 ]
I AR AT 8 o R i 5% R 2 % (B AR 547,002, 198 H
NN 28 B (T BRI M % R 2 (= IR) 535, 434, 622 ]
TINN T A2 W R 3 W ol Ok (T8 IR 528, 494, 076 i




DN A B AT 8 R B e R 2% (L) 530, 807, 592 M
INNFE A HARE AT 8 T IR D 3 PR 2B (RBRURT) 551, 629, 229 i
I AT B R st R 2 (R IR) 528, 494, 076 i
TN A2 WK 1 A IR Bl i k2 (R RIR) 549, 315, 714 i
HINNFE A HA R AT 8 A IR B M A R 2 (R Ak L &) 542, 375, 168 i
I AR B BB st R 2% (BEUR) 512, 299, 470 ]
I AT B R i 5% R 2% (SR IR) 496, 104, 863 i
DN A R AT 3 R B e 5 R 2 (] 1 JR) 519, 240, 015 ]
TINN T A2 ARG 3 F W o i O () 5 URL) 505, 358, 924 i
I AT B R e sx R 2% (1 1 IR 503, 045, 409 i
INNF AZ HARE AT B T IR D h s R 2 (T IR 493, 791, 348 i
I AT B i R b s R 2% (IR 491, 477, 833 i
DN A R B et R 2B (B IR IR) 498, 418, 378 M
I A AT B i R b 5 R 2% (R A IR) 496, 104, 863 i
I AT 8 R b 5 R % (4 ] ) 486, 850, 802 i
TN A2 ARG A 3 T W ol o Ok (P28 IR 484, 537, 287 i




TN A8 R 0 3 VR 1) it ¢ e 2 2 475, 283, 226 ]
TN A2 A R S 0 VRS ot e e ke 2 470, 656, 195 ]
TN N B A8 SR 0 2 I JR 1) it ¢ e 2 468, 342, 680 H
TIN5 A2 MR 4T 1 T VR ol e 3 R 2 7 468, 342, 680 i
INAFE A HARE AT E T IR B M s R 2 (BRI R 475, 283, 226 H
TN N A8 5 0 3 U2 1) it ¢ e 2 2 452, 148, 074 ]
HH Rk 22 RS e 5 PR A R P R L R —

T PR A R B B AR L R —
AL —TVEER 1 k m¥ 720 ik 186,367 | M, km
ALV —TNVIER 1 kmY 7= 0 sk ke 175,255 | M,k m
ABZNT—=TNIER 1 kmY 7 ke E s FR) 176,109 | M,k m
AENT—TNIER 1 kmY 720 i fr e (5HR) 181,238 Mk m
ALV =T NVIEE 1T kmY 720 gk Rt (BKHE) 176,964 | M, k m
ABZNT—TNVIER 1 km¥ 7z afred (1LER) 184,657 M/ km
APV —TNVIERE 1 k mY 720 ik fre® (RER) 184,657 | M, km

£

AENIF—TNVEE 1T km47-0

%
e

ba

(PR IRL) 198, 334

\
/

M,/ km




\
/

ABZNT—TNVIER 1 kmYS 70 ik e® (AR 194,914 | M,/ km
ABANT—TNIER 1 kmY 7 skt ed (FEHRE) 190,641 M/ km
ABZNT—TNVIERE 1T kmY 7 Extked (B ER) 206,026 | M, km
AZNT—TNVIER 1 kmYS 70 fisktrae® (TER) 205,172 | M,/ km
ABZNT—TNVIERE 1T kmY 7 Extred (FE) 212,865 | M, km
AL —TNVIER 1 kmY 720 sk e 208,591 | M km
AN —TNVIER 1 kmY 72 asktre® G 186,367 | M/ km
AA NI —T R 1 kmY 720 i a% k2 196,624 | M,/ km
AZNT—TNVIER 1 kmYS 70 fisktrae® Ca)llR) 195,769 | M, km
APV —TNVIERE 1 k m¥ 72 0 figkfre® (EHR) 195,769 | M, km
APV —TNVIERE 1T km¥Y 720 figk et ([LFLE) 210, 300

AN —TNIER 1 kmY 72 ktre?d (EHER) 200,043 | M,/ km
ABZNT—T VIR 1 kmYS 700 sk af (R R) 199,188 | M,k m
ABANT—TNVIER 1 km¥Y7e 0 sk tre® (F ) 201,753 | M, km
ABZNT—TNVIERE 1T kmY 7 Extred (BEHR) 203,462 | M, km
AZNT—=T NIRRT kmY 70 ikiret (ZEHR) 199,188 | M,k m




\
/

AANT—TNVIER 1 kmYS 700 ik e® (RER) 196,624 | M,k m
APV —TNVIEE 1T km¥Y 70 gk Rt L) 197,479 | M,/ km
APV —TNVIERE 1 k m¥ 72 0 figkfre® (KBRF) 205,172 M,/ km
AZNT—TNVIER 1 kmYS 70 sk fraed (L) 196,624 | M, km
ALV —TNVIER 1 kmY 7= 0 sk ke 204,317 M,/ km
AL —T VIR 1 kmY 70 stk af (Fnak bl R) 201,753 | HM,/ km
ANV —TNVIER 1 kmY 7 skt ed (SRR 190,641 M/ km
ABZNT—T VIR 1 kmYS 700 fifre® (BRE) 184,657 | M, k m
AZNT—TNVIER 1 km¥S 70 skt (L) 193,205 M, km
APV —TNVIERE 1 k mYE 72 ) ik et (LBR) 188,076 | [, km
ABZNT—TNVIER 1 km¥Y 720 asfred (Lol 187, 222

AN —TNIER 1 kmY 7 skt ed (FESER) 183,802 Mk m
ABZNT—TNVIER 1 kmYS 70 fifre® (F)IR) 182,948 | M, k m
ABZNT—TNVIER 1 km¥Y 720 iafred (i) 185,512 Mk m
ARV —TNVIERE 1 k mY 72 0 figkfra® (&mE) 184,657 | M, km
AZNT—TNVIER 1 kmYS 70 sk frae® (5 R) 181,238 | M, km




\
/

AZNT—TNVIER 1 kmYS 70 ik ed (EER 180,383 | M, km
ABANT—TNVIER 1 kmY 72 usktred (RIFR 176,964 | M/ km
ABZNT—TNIERE 1T kmY 7 Extred (BARR 175,255 Mk m
AL —T)VEER 1 km¥ 720 ik > U 174,400 | M,k m
ABZNT—TNVIERE 1T kmY 7 Extred (FikR) 174,400 Mk m
AL —TNVIER 1 kmY 720 sk e 176,964 | M,k m
ABNVT—TNVIER 1 km% 7=V fEskfret (FhiER) 168,417 | M,/ km
AL —T VI EIRR Y 72 0 ek o 2 325 | M./ Bl
IMAFRN T —T7 VIER 1 k mY 7z V) i k2% 36,590 | M, km
AR —7 VIR 1 k m 3472 0 S ik Pk 2 F 34,408 | M,/ km
MARN T —T7 VIR 1 kmY 72V ixtket CaFR) 34,576

MAZRN T —T VIR 1 kmY 720 ke ® (FHR) 35,583 | M. km
IMARHr —TNIER 1 k m¥Y 720 sk et (BKHR) 34,744 M,/ km
MARN T —T7 VIR 1 kmY 72 v ixtkes (LBR) 36,254 | M, km
MARNA 7 —TNVIEE 1 kmY 7= 0 skt (EER) 36,254 M,/ km
IMARH A —T NVIER 1 k m¥Y 72 0 sk et (RIE) 38,939 | M, km




IMARHr —TNIER 1 k m¥Y 7= 0 sk et (HARR) 38,268 | M,/ km
MMARN 7 —T VIR 1 kmY =0 sk iked (BEER) 37,429 | M./ km
MARNT =T NVIER 1 kmY 72V ke (WER) 40,449 | M,/ km
AR =T NVIER 1 k mY 720 ik ke (THER) 40,282 M,/ km
MARN A — T NVIEE 1 kmY 7= 0 faskfh e CGHEUHE) 41,792 M,/ km
AR —TNVIER 1 k mY 7= 0 ek (A)IR) 40,953 | M,/ km
AR —T VIER 1 k m Y72 0 ik ke CHiE i) 36,590 | M. km
MARNr —TNVIER 1 k mY 7= 0 sk et (F1L5R) 38,603 M,/ km
IMARHr —T NVIER 1 k mY 720 sk et (a)IlR) 38,436 | M,/ km
AR — T VIERE 1 k m% 7= 0 gk fhe® (GEH ) 38,436 | M, km
MAFRINETr — 7 NWVIER 1 km¥ 720 Mgk 2 (ILWRLR) 41,288 | M,/ km
AR —T NVIER 1 k mY 720 gk ke (REE) 39,275 | M.,/ km
IMARN T —TNIER 1 k m¥Y 72 0 sk et (R IR) 39,107 M,/ km
MAZRNr —T7NWIER 1 kmY 72V ke 2 (FriIE) 39,610 M. km
MARN A —TNVIEE 1 kmY 7= 0 sk fr e (Emk) 39,946 | M, km
AR =T NVIER 1 k mY 720 ik ke (ZEHE) 39,107 | M,/ km




MARIT —TNWVIER 1 km¥ 70 ekt ef (AR 38,603 | M,/ km
AR —T NVIER 1 k mY72 0 Mgk ke GUEIT) 38,771 M,/ km
MARN T —TNVIER 1 km¥ 720 stk e® (CKIRF) 40,282 M,/ km
MARINET — 7 NWVIER 1 kmY 720 Mgk fr 2 (JLER) 38,603 | M, km
MAZRHTr —TNIER 1 k mY 7= ket (RER) 40,114 | M,/ km
MAZN T —T VIR 1 k m¥Y 7= 0 ek (CFnk il R) 39,610 M/ km
MAZRN T —T VIR 1 kmY 720 ke s® (SR 37,429 | M./ km
IMARHr —TNIER 1 k m¥Y 7= 0 sk et (BRIE) 36,254 M,/ km
IMARHr —T NIER 1 k m¥Y 720 fask et (L R) 37,932 | M,/ km
AR —TNVIER 1 kmY 720 ke (LER) 36,925 M, km
MARN T —T7 VIR 1 kmY 72 v i tkes (LA R) 36,757 | M,/ km
MAZRN T —T7NWVIER 1 kmY 720 uxke® (R 36,086 | M. km
MARHr —TNVIER 1 k mY 7= 0 sk et (F)IR) 35,918 M,/ km
AR —T NVIER 1 k mY72 0 ik ket (FRE) 36,422 | M,/ km
MARN T —TNVIER 1 km¥ 720 ikt e® (&) 36,254 | M,/ km
IMARH A —T NIER 1 k m¥Y 720 fEsk a2t (5@ [ R) 35,583 | M,/ km




\
/

IMARHr —TNIER 1 k m¥Y 7= 0 sk et (EER) 35,415 M,/ km
MAZRN T =T VIR 1 kmYB 720 uke® (RFER) 34,744 M./ km
AR —T NVIEE 1 kmY 7= 0 sk fr e (BEARR) 34,408 | M,/ km
MARN T —T7NVIER 1 kmY 72V itk et (Ko R) 34,240 | M,/ km
AR — T VIER 1 k m% 7= 0 gk fhe (k) 34,240 | M,/ km
MARNTr =7 WVIER 1 kmXY 720 skt a% (B ER) 34,744 M,/ km
AR — T NVIER 1 k m Y72 0 Mk ket (i) 33,065 M., km
IR — 7 VI B8 24 72 0 i i IR 42 325 | M./ Bl
FHERE T — 7 VR 1 kmH 70 ik te e (dbifgiE) 304,095 | M,/ km
R — T VIER 1 kmYS 72V aikfres (HHR) 285,888 | M, km
PRI — 7 VIER 1 k mY 720 sk R 2% CaFIR) 287, 289

FER Ny — 7 VEERE 1 km¥ 70 sk fre® (ER) 295,692 | M,/ km
Ffk R — T NVIER 1 k mY 70 ik R (FAHEE) 288,689 | M, km
kRN — T VIER 1 kmY 720 sk (LEER) 301,294 M. km
FkREr — 7 NVIERE 1 kmY 720 sk re®E (&5 R) 301,294 M,/ km
kRN — T VIER 1 kmY 720 sk fr 2t (KHR) 323,703 | M,/ km




\
/

Fk R — T NVIER 1 k mY 70 ik Rt (HHAR) 318,101 | M,/ km
FRER N — T NVIER 1 kmY 72 0 sk ir 2 (FEHR) 311,098 | M,/ km
FEREr —T7 VIR 1 kmY 720 sk re®E (FER) 336,308 M, km
Pk R — 7 VIER 1 k mY 720 ik R 2 (THR) 334,908 | M,/ km
FEREr — 7 VIR 1 kmYS 720 ek fre®E (R HED) 347,513 | M,/ km
kR — T VEER 1 k m Y7 Y i ak Pr 25 340,510 | M,/ km
PRI — T VIER 1 k m% 72 0 sk fr 2t Gk R) 304,095 | M,/ km
PR — T VEER 1 k m Y72 Y i ak Pr 25 320,902 | M,/ km
Pk R — 7 VIER 1 k mY 70 sk 2 E CA)IR) 319,502 | M, km
Fk R — 7 NVIERE 1 kmYS 720 sk fre®E (FHIR) 319,502 M, km
TR — T VIER 1 k m% 72 0 sk Rt (LALR) 343, 311

TR — T VIER 1 k m% 72 0 sk fr a2t (KEIR) 326,504 | M,/ km
Ffk R — T NVIER 1 k mY 70 ik Rt (B IE) 325,104 | M,/ km
PRI — T NVIER 1 k m% 72 0 sk fr et (FFIR) 329,305 M,/ km
FkRIEr — T NVEER 1 k m¥Y 720 sk R (FaR) 332,106 | F,/ km
Pk R — 7 VIER 1 k mY 720 ik fr 2 (ZER) 325,104 | M,/ km




\
/

HfER N —7 VIR 1 kmYS 700 sk iR a® (RER) 320,902 | M,/ km
PRI — T VIER 1 k m% 72 0 sk fr 2% (UET) 322,303 | M,/ km
TR — 7 VIER 1 k m¥ 7= 0 Mgkt a® (KRB 334,908 | M,/ km
Pk R — 7 VIER 1 k m 7 0 ek R g (SR R) 320,902 | M,/ km
FRERIE T — T NVIER 1 k m¥% 72 0 sk fr 2 333,507 | M,/ km
HfE RN — 7 VIR 1 kmY 700 skt (Fofkl &) 329,305 M,/ km
PRI — T NVIER 1 k m% 72 0 sk fr a2t (5HEUR) 311,098 | M,/ km
Ffk R — T NVIER 1 k mY 70 sk Rt (BRI 301,294 | M,/ km
Pk R — 7 VIER 1 k m 7 0 fak PR g ([ L) 315,300 | M/ km
FkRIEr — T NVER 1 k m¥M 720 sk R 2t (L ER) 306,897 | M, km
TR — T VIER 1 k m% 7= 0 sk Rt (b0 R) 305, 496

PR — T NVIER 1 kmY 70 i tr a2 (FE5ER) 299,894 M, km
Ffk R — T NVIER 1 k mY 70 kRt (F)IE) 298,493 | M, km
PRI — T NVIER 1 k m% 72 0 sk fr 2t (ZRIR) 302,695 | M,/ km
TR — 7 VIER 1 k m¥ 7= 0 ikt a® (& R) 301,294 | M,/ km
Pk R — 7 VIER 1 k m 72 0 ek PR g (f@ i) 295,692 | M,/ km




TR — 7 VIER 1 k m¥ 70 sk fref (EE R 294,292 | M,/ km
FHER N — T VIER 1 kmYS 72 0 ik fr 2 (KIFE 288,689 | M, km
FRERE 7y — T VEER 1 kmY 7= 0 sk et (BAR 285,888 | M,/ km
FERIE T — T VIER 1 k mY 7= 0 sk 2 (KR 284,488 | M,k m
TR — 7 VIER 1 k m¥ 7= 0 skt a® (EiR) 284,488 | M,/ km
PRI — T VIR 1 kmYS 720 sk fr e (BIEER) 288,689 | M,k m
FiER Ny — 7 VEER 1 k m¥7- 0 fisk iR (FhiER) 274,684 | M,/ km
WK —7 VLR 1 kmYS 720 itk e® (eifEiE) 448,510 M,/ km
WIEN T —7 VIER 1 kmYS 720 ik 2® (FHRE) 420,870 | M, k m
WK —7 VLR 1 kmYS 720 iRike® 5FR) 422,996 | M, k m
WIEX T —7 VLR 1 kmY4 720 iR e® (CER) 435, 753

WIESL 7 — 7 VIR 1 km% 720 fEskfr e (BKHR) 425,122 | M,/ km
MWIEN T —7 VIR 1 kmY 720 itk a® (LER) 444,258 | M, k m
MR — 7 VIER 1 k m Y72 0 ik ke (fFER) 444,258 | M,/ km
MR — 7 VIR 1 k m¥Y 70 Mgk Rt (PRR) 478,277 M,/ km
WIEX T — 7 VLR 1 kmY4 720 ik fra® (AR) 469,772 M,/ km




MWIEN T —7 VIR 1 kmY 70 itk a® (FHER) 459,141 M,/ k m
WISy — 7 VR 1 km%7- 0 sk ke (BER) 497,413 | M,/ km
MRy — 7 NVIER 1 km% 720 sk fr et (THER) 495,286 | M, km
WIS — 7 VIR 1 kmY 700 sk ke (R 514,422 | M,/ km
WEX T — 7 NVIER 1 kmY 700 st eg (R 503,791 | M,/ km
MWIEN T —7 VIR 1 kmY 720 itk 2® ChigR) 448,510 | M, k m
WEN 7 — 7 VIR 1 kmS 700 ke E (FLE) 474,024 | M,/ km
MWIEN T —7 VIR 1 kmY 720 itk a® CalliR) 471,898 | M, k m
MWIECr — 7 VIER 1 kmY 72 0 ik R g (5@ IR) 471,898 | M,/ km
WK —7 VIER 1 kmYS 720 sk a® (LELR) 508,044 | M,/ km
MIECr — 7 VIER 1 km Y720 sk R 2t (RER) 482,529 | M, k m
WEX T —7 NVIER 1 kmY 720 s freg (R R) 480,403 | M, km
MWIEN T —7 VIR 1 kmY 720 a2 (&) 486,782 | M, k m
WIESL 7 — 7 VIR 1 km% 700 fEskfr s (ZmmR) 491,034 M,/ km
MRy — 7 NVIER 1 km% 720 faskfret (ZEHR) 480,403 | M, km
MIECr — 7 VIER 1 kmY 720 ik fr 2t (B R) 474,024 M,/ km




MWIEN T —7 VIER 1 kmY 720 itk 2® L) 476,151 | M,k m
WIESL 7 — 7 VIR 1 km% 700 sk fr a2 (KR 495,286 | M, km
WK —7 VLR 1 kmYS 720 ik e® (KER) 474,024 | M,/ km
MR — 7 VIR 1 kmY 720 ikt (RRE) 493,160 | M, k m
WIEN T —7 VIR 1 kmY 70 skt (Foak L&) 486,782 | M, k m
MWIEN 7 —7 VIR 1 kmY 720 itk a® (SEE) 459,141 M,/ k m
WIESL 7 — 7 VIR 1 km% 720 sk e (HIRE) 444,258 | M,/ km
WK —7 VIER 1 kmYS 720 st (L&) 465,520 | M, k m
WIS — 7 VIR 1 kmY 700 sk ke (L ER) 452,763 | M,k m
WK —7 VIR 1 kmYS 720 ik e® (Lo k) 450,636 | M,k m
WIEX T — 7 VLR 1 kmYS 720 iR a® (FEER) 442,132 M,/ km
MR — 7 VIERE 1 km¥Y 7= 0 iRt (F)IR) 440,005 | M, km
MWIEN T —7 VIR 1 kmY 720 ik a® (KRR 446,384 | M,k m
WIESL 7 — 7 VIR 1 km% 700 sk fr a2 (&FR) 444,258 | M,/ km
WIESL 7 — 7 VIR 1 km% 700 sk fr et (F& R IR) 435,753 | M,k m
MWIEN T —7 VIER 1 kmY 720 ik e® (EEER) 433,627 M,/ km




MWIEN 7 —7 VIR 1 kmY 720 ik 2® (RiEER) 425,122 M,/ k m
WIESL 7 — 7 VIR 1 km% 700 fEskfr et (BBAR) 420,870 | M,k m
WIES 7 — 7 VIR 1 km% 720 fEskfr et (KOR) 418,744 | M,/ k m
WIEX T —7 VIR 1 kmYS 720 iR e® (i iR) 418,744 | M,/ km
WIECr —7 VIR 1 kmY 70 skt (BIRER 425,122 M,/ k m
MWIEN T —7 VIR 1 kmY 720 e 2 (FhiRER) 403,860 | M, k m
BISAE R k m 2 7= 0 ik 2% 80,755| M., km
FOREKER kmY 70 i ireE 80,755| M,/ km
BHHREkmY 70 MRk EH 80,755 M, km
HEEER k m 4720 i r 2 80,755 | M, km
HIGRERIER k m¥Y 72 0 g R 22 80,755 | M, km
BARILFEEIER k m X472V sk 2% 80,755| M, km
s A it i Pre 28 B e e R L =R 0. 0557 —

PR = A ) i B PR 4 B et B R B R 0. 0274 -
Btz fii (B Bafl) Mgk fr 2t stk E R R 0.2162 —
Bl (INAFE AZHARE) ik Pr 2 oo B & R =R 0. 0468 -




REOdaR i (PAk A HAr) Fusx R 2B i E R = 0. 0507 —
el (THAMEREE) TAMBER k mY4 720 etk 2% 12,251 M.,/ km
REOAER E (THINAREE) TIMRBIER k m¥Y47- 0 skt 28 2,683 M,/ km
BEAR R ([0S MR AR ) il 5% R 42 B o P& & BB LE 2R 0.0276 —

168 FH W i it PR 42 e ok S BB LE R 0.0274 —
HL T Jif B R 4 By xof 2 RE bE R 0. 0625 —
T H &% 5 K OV b i 5% P 2 ok e g ga b 3 0.0042 —
B I il B PR 4 B kF P S BB LB R 0. 0358 —
T H 25 B K OVl 5 it 5% O 2 By P G KA L =R 0.0041 —
BAE 1 AN -0 E S AR 449 RN
B 1 km¥47- 0 EES e 51,777 M,/ km
POREK 1 kmY 7~ EESHE 517,501 | M, km
91 km¥Y7=vEESHE 1,045,671 | M, km




fEMA Y 7 A1 km%7z0EEK S 5,504 M,/ km
BIGARER 1 kmX 7= v iEK S5 HE 5,504 M,/ km
B LEE 1 km Y72 VB SR 5,504 | M,/ km
BAE 1 RN v EK S R 447 PN
B 1 kmY 720 iERK S HE 51,405| M,/ km
FORERK 1 kmY720ERSHE 514,100 M,/ km
EDIE 1 kmXY 7o VB S HE 1,038,148 | M, km
fEHA Y 7 A1 km%72 08K S 5,464 | M,/ km
BIGARER 1 kmX 7= 0 a5 HE 5,464 | M, km
BARILEE 1 k mY 72 VB SR 5,464 | M,/ km
PR 3 fi 1 2= B oo & RH EL R 0.00107 -
T A R B 25 B T e BB R L =R 0. 00503 -
7 PR S 5 T e e E R L R 0. 00233 -
TORB A A B o & B L R 0.00112 —

ke



A B B R =R 0.00238 —
S R B T & AR L R 0. 00297 -
B S OV 4 25 B F e e B AR b R 0.00119 —
PR R 18 25 2 ) > 4 B L B R 0.00131 -
T A0 i B 1 25 2 1 kT PR AR L R 0. 00831 -
7 PR B 25 B T e OB R =R 0. 00227 -

A iR B e R =R 0.00108 -
A R e R R 0.00196 —
MMM EE &R R 0. 00295 -
AR M OV 8 25 2 D sk B A L R 0.00123 -
T 25 B N O Sh = e ek e B BR B =R 0. 00077 -
AR I 70 2 o BB A b R 0. 03279 -
1 [EI8R Y 7= 0 B2 B H 5 & 0.9 M. /[EI#
1 [EI#R 24 72 0 B R e foe B 1 5 & 94.0 | M/ [=I#%

£ 7



1 [E8R 24 7= V) B H (o] A B e e 5,028 | 9,/ [al#¢
B A E A b R . 15266 —
B FH R S5 R MR AR S 271 —
TH. 28 B MOV E2E X &a gt 3R . 00083 —
BRI 20 B cF R R e R . 03182 —
1 [ERR 24 72 V) B B o & 0.8 H /Al
1 [AlRR 24 7= v 55 R AR B e Bl S s 88.9| M. /=l#¢
1 [EIRR Y 7= 0 B R (AR A4S P B & 5,064 | M/ [El##
BRI E A R . 14371 —
BT R 55 R A R K 260 —
Ui A SR A2 44 [B] 5 Lk 3] bE R 0.2274 —
H R SR AZ H8 [] J5 bE 1) BE =R 0. 4871 —
Ui A SR A2 44 [B] 5 bk 3] bE 3R 0.2263 —

£ 7



M ] 55 e 451 bl R 0. 4692
AZ 4 29.
fr ik A 12.
MR S PR N R 17.
AE HA K 29.
frikdEE 13.
=R R PRI R e 18.
BR7E X L — T )L 23.
WA LA —T )L 32.
BTG XKL — T )L 24.
HFRXAZ)LAr—T )L 33.

N7

£ 7



s 55.

oh B 55.
r

i it 56.

O B 56.
r

Fa i 2 [A] T 55.
r

iR 2 [ 56.
|— N,

MEETCEE (R 7 v =7) 7.
:

MEEECEE (R 7 b =7) 8.
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